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Initial 3 leptons At least 2 jets | At least 1 CSVL | At least 1 OSSF pair | Inv Mass Z | Inv Mass top

NEW2-TTtodL-Kappa-zct 2.13e+03 £ 1.05 256 £ 0.36 146 £+ 0.271 17 +0.242 17 +£0.242 111 £+0.236 79.3 £ 0.2
NEW2-TTto3L-Kappa-zut 2.13e+03 £ 1.02 206 £ 0.348 143 £ 0.26 108 £ 0.225 107 £0.225 103 £ 0.22 80 £ (.14
tZ-Kappa-zct 372 £0.482 521 £ 0.18 118 £ 0.0858 0.66 £ 0.0776 0.61 £ 0.0773 882 £ 00741 | 243 £ 0.0389
tZ-Kappa-zut 3.17e+03 £ 4.08 41 £ 141 83.7 £ 0.664 65.6 £ 0.588 65.2 £ (.586 o806 £ 0556 | 116 £ 0.247
TTdilep WToLNu madspin 1.93e+03 £ 7.6 147+ 2.1 87.2 £ 1.62 79.9 £ 1.55 61.8 £ 1.36 154 £ 0.679 | 849 £0.505
TTdilep ZToLL madspin 83 + 2.54 208 £ 1.29 127 £+ 1.01 117 £ 0.969 108 4+ 0.933 814+ 0.809 | 318 £0.506
TTdilep madspin 6.78e+06 £ 3.44e+03 145 £ 156 417 £ 83 LT+ 7.27 200 £ 5.78 6.67 £ 3. 167 + 167
TTsemilep HToZZ madspin2 267 £0.34 2.64 £ 0.0339 252 £ 0.0331 228 £ 00315 2.24 £ 0.0312 L6T £ 0.027 | 104 £ 0.0213
TTsemilep ZToLL madspin 1 1.68e+03 + 5.3 108 + 1.35 8.2+ 1.19 2+ 112 73.6 £ 1.11 63 + 1.03 25.0 £ 0.652
TTsemilep ZToLL madspin 2 L.68e+03 £ 5.3 110 £ 1.36 85 £ 119 M4 +£1.12 24+ 11 62.6 £ 103 | 25.7 £ 0.657
WZToLLLNu 2.07e+05 £ 60.5 1520+ £ 154 | L98+03 £ 5.53 ar9 £+ 2.99 arT +£2.99 al7 + 2.83 171 + 1.63
ZToLL50-3Jets sm-no masses | 6.28¢406 + 3.3%403 3d.0 £ 7.85 925 £ 4.14 185 £ 1.85 L85 £ 1.85 L85 £ 1.8 1.85 £+ 1.85
ZToLL30-4Jets sm-no masses | 2.16e406 £ 1.49%+03 6.05 £ 247 504 £ 2.25 202 £ 143 202 £ 143 2024+ 143 | 202+ 143
ZZToLLLL sm-no masses J.0%+M + 135 2.74e+03 £ 37.3 236 £ 10.9 7.2 £ 6.14 73.6 £6.12 67.6 £ 5.86 2704+ 3.73
TZq madspin trilep 231e+03 £ 2.12 249 £ 0.6 77.9 £ 0.388 63.6 £ 0.351 63.4 £0.35 24033 | 17.7+£0.18

Coupling Signal Background SIVS+B S/VS+B+(0.3xW2Z)?

Zut 80+12=92 314 (WZ=171) 4.57 1.67

Zct 79+ 2 =281 314 (WzZ=171) 4.08 1.47




0F
60-
50
s
Nk
20"

f0F

g

TTTT T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
T | | I | I | | [T

[Csignal et 7
Osignal zut 7
[ TT+V+jets i
3 T+jets
O

O Wz+jets
D ZToLL+jets
[ Zz+jets

III|IIIIIIIIIllIlllIIIlIIIII—

50 100 150 200 250 300 350 400 450 5(
Inv Mass ™(lc)

MVA variables

600|||||||||||| TT T[T T[T T[T T[T [TITT]rT
[CJsignal zet |
Osignal zut |
[ TT+V+jets B
D TT4jets |

500F =
L [ ZToLL+jets
B [ Zz+jets |
400F -
300 -
200 .
100F .

lllllll|IIII|IIII|IIIIIIIIIIII_

0 1 2 3 4 5 6 7 8
Nb CSVM Jets

:IIII|IIII|IIIII|III|IIII|IIII|II|||IIII|IIII|IIII—

3 5 _ Osignal 2t |
L Osignal zut |
@ TT+V+jets -
3D TT4jets
C Qm
30 I O Wesjets
C O ZToLLsets |
@ Zz+jets

0 50 100 150 200 250 300 350 400 450 500
Inv Mass t™(lb)



Training for ttbar Zut with WZ

« Variables in order of importance:

- Invariant mass top (FCNC side)
- Nb CSVM jets

- Invariant mass Ib (SM side)

Input variable: MVA_Nb_CSVM _jets Input variable: MVA_SM_lb

U/O-flow (S,B): (0.0, 0.0)% / (0.1, 1.2)%
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Correlation Matrix (signal)

Linear cotrelation coefficients in %

100

MVA_SM_Ib

Cut efficiencies and optimal cut value
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Training for ttbar Zct with WZ

« Variables in order of importance:

- Invariant mass top (FCNC side)
- Nb CSVM jets

- Invariant mass Ib (SM side)

Input variable: MVA_Nb_CSVM_jets Input variable: MVA_SM_Ib

U/O-flow (S,B): (0.0, 0.0)% / (0.1, 1.2)%
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Cut efficiencies and optimal cut value

Efficiency (Purity)
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SW(S+B)=4.57  SN[S+B+ Y (syst. Shift)2] = 1.67

103 178 SW(S+B)=6.15  SN[S +B + Y (syst. Shift)?] = 5.37

S/V(S+B) = 4.08 SW[S +B + Y (syst. Shift)?] =1.47

77 178 SW(S+B)=4.83  SW[S +B + Y (syst. Shift)q] = 4.17

10



	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 10

